

Extra Examples of Limits

Math 121 D. Benedetto

Evaluate each of the following **limits**. Please justify your answers. Be clear if the limit equals a value, $+\infty$ or $-\infty$, or Does Not Exist.

$$1. \lim_{x \rightarrow 0} \frac{\arcsin x + \cos(3x) - e^x}{\arctan(3x) + x^2 - \sin(3x)} \stackrel{\left(\frac{0}{0}\right)}{=} \text{L'H} \lim_{x \rightarrow 0} \frac{\frac{1}{\sqrt{1-x^2}} - 3 \sin(3x) - e^x}{\frac{3}{1+9x^2} + 2x - 3 \cos(3x)} \stackrel{\left(\frac{0}{0}\right)}{=}$$

$$\stackrel{\text{L'H}}{=} \lim_{x \rightarrow 0} \frac{-\frac{1}{2(1-x^2)^{\frac{3}{2}}}(-2x) - 9 \cos(3x) - e^x}{-\frac{3}{(1+9x^2)^2}(18x) + 2 + 9 \sin(3x)}$$

$$= \lim_{x \rightarrow 0} \frac{\frac{x}{(1-x^2)^{\frac{3}{2}}} - 9 \cos(3x) - e^x}{-\frac{54x}{(1+9x^2)^2} + 2 + 9 \sin(3x)} = \frac{-9 - 1}{2} = \frac{-10}{2} = \boxed{-5}$$

$$2. \lim_{x \rightarrow 0} \frac{\ln(1-x) + x}{\cos(4x) - \arctan(3x) - e^{-3x}} \stackrel{\left(\frac{0}{0}\right)}{=} \text{L'H} \lim_{x \rightarrow 0} \frac{-\frac{1}{1-x} + 1}{-4 \sin(4x) - \frac{3}{1+9x^2} + 3e^{-3x}} \stackrel{\left(\frac{0}{0}\right)}{=}$$

$$\stackrel{\text{L'H}}{=} \lim_{x \rightarrow 0} \frac{-\frac{1}{(1-x)^2}}{-16 \cos(4x) + \frac{3(18x)}{(1+9x^2)^2} - 9e^{-3x}} = \frac{-1}{-16 - 9} = \frac{-1}{-25} = \boxed{\frac{1}{25}}$$

$$3. \lim_{x \rightarrow 0^+} (1 - 3 \sin x)^{\frac{1}{x}} \stackrel{1^\infty}{=} e^{\lim_{x \rightarrow 0^+} \ln \left[(1 - 3 \sin x)^{\frac{1}{x}} \right]}$$

$$= \lim_{x \rightarrow 0^+} \frac{\ln(1 - 3 \sin x)}{x} \stackrel{\left(\frac{0}{0}\right)}{=} \text{L'H} \lim_{x \rightarrow 0^+} \frac{\frac{1}{1 - 3 \sin x}(-3 \cos x)}{1} = \boxed{e^{-3}}$$

$$4. \lim_{x \rightarrow \infty} (\ln x)^{\frac{3}{x}} \stackrel{\infty^0}{=} \lim_{x \rightarrow \infty} e^{\ln \left((\ln x)^{\frac{3}{x}} \right)} = \lim_{x \rightarrow \infty} \ln \left((\ln x)^{\frac{3}{x}} \right) = e^{\lim_{x \rightarrow \infty} \left(\frac{3}{x} \right) \ln(\ln x)}$$

$$\lim_{x \rightarrow \infty} \left(\frac{3 \ln(\ln x)}{x} \right) \stackrel{\infty}{=} e^{\lim_{x \rightarrow \infty} \left(\frac{\left(\frac{3}{\ln x} \right) \left(\frac{1}{x} \right)}{1} \right)} = e^{\lim_{x \rightarrow \infty} \left(\frac{3}{x \ln x} \right)} = e^0 = \boxed{1}$$

$$\begin{aligned}
5. \lim_{x \rightarrow \infty} \left(1 - \arcsin\left(\frac{5}{x^4}\right)\right)^{3x^4} &\stackrel{1^\infty}{=} e^{\lim_{x \rightarrow \infty} \ln \left[\left(1 - \arcsin\left(\frac{5}{x^4}\right)\right)^{3x^4} \right]} \\
&= e^{\lim_{x \rightarrow \infty} 3x^4 \ln \left(1 - \arcsin\left(\frac{5}{x^4}\right)\right)} \stackrel{\infty \cdot 0}{=} e^{\lim_{x \rightarrow \infty} \frac{3 \ln \left(1 - \arcsin\left(\frac{5}{x^4}\right)\right)}{\frac{1}{x^4}}} \stackrel{\left(\frac{0}{0}\right)}{=} \\
&\stackrel{\text{L'H}}{=} e^{\lim_{x \rightarrow \infty} \frac{\left(\frac{3}{1 - \arcsin\left(\frac{5}{x^4}\right)}\right) \left(-\frac{1}{\sqrt{1 - \left(\frac{5}{x^4}\right)^2}}\right) \left(-\frac{20}{x^5}\right)}{-\frac{4}{x^5}}} \\
&= e^{\lim_{x \rightarrow \infty} \left(\frac{3}{1 - \arcsin\left(\frac{5}{x^4}\right)}\right) \left(-\frac{1}{\sqrt{1 - \left(\frac{5}{x^4}\right)^2}}\right) (5)} = \boxed{e^{-15}}
\end{aligned}$$

$$\begin{aligned}
6. \lim_{x \rightarrow \infty} \left(1 - \arcsin\left(\frac{6}{x}\right)\right)^x &\stackrel{1^\infty}{=} \lim_{x \rightarrow \infty} e^{\ln \left(\left(1 - \arcsin\left(\frac{6}{x}\right)\right)^x \right)} \\
&= e^{\lim_{x \rightarrow \infty} \ln \left(\left(1 - \arcsin\left(\frac{6}{x}\right)\right)^x \right)} = e^{\lim_{x \rightarrow \infty} x \ln \left(1 - \arcsin\left(\frac{6}{x}\right)\right)} \stackrel{\infty \cdot 0}{=} \\
&\stackrel{\text{L'H}}{=} e^{\lim_{x \rightarrow \infty} \frac{\ln \left(1 - \arcsin\left(\frac{6}{x}\right)\right) \stackrel{\left(\frac{0}{0}\right)}{=} \left(\frac{1}{1 - \arcsin\left(\frac{6}{x}\right)}\right) \left(-\frac{1}{\sqrt{1 - \left(\frac{6}{x}\right)^2}}\right) \left(-\frac{6}{x^2}\right)}{-\frac{1}{x^2}}} \\
&= e^{\lim_{x \rightarrow \infty} \left(\frac{1}{1 - \arcsin\left(\frac{6}{x}\right)}\right) \left(-\frac{1}{\sqrt{1 - \left(\frac{6}{x}\right)^2}}\right) (6)} = \boxed{e^{-6}}
\end{aligned}$$